Class 9 The Minimum Uncertainty Product Fuesday, September 18, 2018 8:01 AM $(\Delta \hat{A})$ $(\Delta \hat{B}) > \frac{1}{2} / \langle [\hat{A}, \hat{B}] \rangle /$ $(\Delta \hat{A})^{\prime} = \langle \hat{A}^{2} \rangle - \langle \hat{A} \rangle^{2}$ for the Inequality to be saturated two conditions must be $me \neq \tilde{}$ $i) \varphi = c \psi \implies |\langle \varphi | \psi \rangle|^2 = \langle \varphi | \varphi \rangle \langle \psi | \psi \rangle$ $\varphi = \hat{A}_{s} \, \overline{\Psi} \, (\overline{x}, t) \quad ; \quad \Psi = \hat{B}_{s} \, \overline{\Psi} \, (\overline{x}, t)$ $\hat{A} \Psi(\bar{x},t) = C \hat{B}_{s} \Psi(\bar{x},t)$ $z) \ \langle [A_s, B_s]_+ \rangle = 0$ If both conditions are met then, $\Delta A \Delta B = \frac{1}{2} \langle (A, B] \rangle$ E_{XAMPL} : $\hat{A} = p$, $\hat{B} = \chi$ 1) $\gamma_{5} \overline{\Psi} / (x, t) = - \chi_{5} \overline{\Psi} / (x, t)$ $\implies 2) \langle [x_s, \overline{r}_s] \rangle = 0 \qquad \stackrel{1}{X_s} = x - \langle x \rangle \quad P_s^{1} = \overline{P} - \langle \overline{P} \rangle$ These two conditions determine the general form for £ (x,+) $\frac{\mathcal{A}}{1} \quad \left(\widehat{\mathcal{P}} - \langle \widehat{\mathcal{P}} \rangle\right) \underbrace{\overline{\mathcal{Y}}}_{(X,\mathcal{A})} = c \quad \left(\widehat{X} - \langle \widehat{X} \rangle\right) \underbrace{\overline{\mathcal{Y}}}_{(X,\mathcal{A})} \quad \\ \times \quad \\ + \underbrace{\overline{\mathcal{P}}}_{(X,\mathcal{A})} \quad \\ + \underbrace{\overline{\mathcal{P}}}_{(X,\mathcal{A}$ $p' = -i\hbar \frac{d}{dx}$ $-i\frac{1}{p}\frac{1}{p}\frac{\varphi(x,t)}{\varphi(x,t)} = \left(cX - c\frac{1}{2}x + \frac{1}{2}p\right)\frac{\varphi(x,t)}{\varphi(x,t)}$ $\Psi(x,t) = \Psi(x) \phi(t)$ $-xt \frac{d}{dx} \frac{1}{x} \frac{1}{x} = (cx + z) \frac{1}{x} = (cx + z) \frac{1}{x}$ $\int \frac{d\Psi(x)}{\frac{d\Psi(x)}{dW}} = \frac{1}{2} \int (C \times 4) \frac{dV}{dX}$

$$\int \frac{d^{4}(k)}{4^{4}(k)} = \frac{i}{k} \int (c \times +T) dX$$

$$\lim_{N \to \infty} \Psi(x) = \frac{i}{k} \left(c \times +T \times + const \right)$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times +T \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times +T \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times +T \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times +T \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times +T \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times +T \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times +T \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times +T \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times +T \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times +T \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times +T \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times +T \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times +T \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times +T \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times +T \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times +T \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times +T \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times +T \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times +T \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times +T \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times +T \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times +T \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times +T \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times +T \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times + c \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times + c \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times + c \times + c \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times + c \times + c \times + c \times + const \right)}$$

$$\frac{1}{\sqrt{k}} (x) = A e^{i \frac{1}{2} \left(c \times + c \times +$$

 $C = \lambda / C /$ $\psi(x) = \psi(o) e^{-\frac{1}{24}} e^{\frac{1}{4}} e^{\frac{1}{4}} + \frac{1}{4} e^{\frac$ $= \psi(o) e^{-\frac{|c|}{24}(\chi^2 - z < \hat{x} > \chi)} \rho^{\frac{1}{4}} \langle \hat{p} > \chi$ $= \psi(0) e^{\frac{-16}{24}(X-1)^2} (X-1)^2 e^{\frac{16}{4}(X-1)^2} X$ $\left(\frac{\psi(x)}{2}\right)^{2} \propto \rho^{-\frac{1cl}{4}} \left(x - \langle x \rangle\right)^{2}$. A gaussian Wave function will lead to (DX DP = t/2) "siturtes he unartainly Rek fim for 2 free Particle : H= P The Eign produce of $f : \psi(x) = A e^{\pm \frac{1}{2}PX} \implies E = \frac{p^2}{2m}$ $\Delta R = \left[\left\langle r^2 \right\rangle - \left\langle r \right\rangle^2 \right]^{1/2}$ $\langle P^2 \rangle = \int \psi^{*}(x) \left(-it \frac{d}{dx} \right)^2 \psi(x) dx = P^2 \int \psi^{*}(x) \psi(x) dx$ $P\Psi = P\Psi$ $\langle P \rangle = P \left(\psi^{+}(x) \psi(x) dx \right)$ AXAP "not well de fined " $\begin{bmatrix}
 \Delta \gamma = 0 \\
 & \Delta x \to \infty
 \end{bmatrix}$ AXAP> th/ >> AX~ the h → ↓ ↓ ¬×A ↓

 \sim \sim $(\Delta x)_{1}^{2} (\Delta r)_{+}^{2} \sim t^{2} \frac{\pi}{2}$ $(\Delta \times)_{t} (\Delta R)_{t} \sim t + (\Delta X)_{t} (\Delta R)_{t}$ $(\Delta R)^{\mathbf{r}}_{\mathbf{r}} \sim (\Delta R)_{\mathbf{r}}$ $(\Delta X)_{\circ} (\Delta R)_{\circ} = \frac{1}{2} \quad \begin{cases} \Delta X \end{pmatrix}_{\circ} \quad \forall (X) \sim e^{\frac{|c|}{2t} \chi^{2}} \end{cases}$ [X,P]=it For Homework you found? $\left(\Delta \stackrel{\lambda}{X}\right)^{2} = \left(\Delta \stackrel{\lambda}{X}\right)_{0}^{2} + \frac{t}{m} \left(\lambda \stackrel{\lambda}{P} + \stackrel{\lambda}{P} \stackrel{\lambda}{X}\right)_{0} + \left(\Delta \stackrel{\lambda}{P}\right)_{0}^{2} + \frac{t^{2}}{m} \left(\lambda \stackrel{\lambda}{P} + \stackrel{\lambda}{P} \stackrel{\lambda}{X}\right)_{0} + \frac{t^{2}}{m} \left(\lambda \stackrel{\lambda}{P}\right)_{0}^{2} + \frac{t^{2}}$ ¥ $-\frac{2(x)_{o}(x)_{o}t}{m}$ Jor gassim $(\Delta x)_{o}(\Delta p)_{o} = \frac{1}{2}$ (AP)+ = (AP)o "For free Partick" $\frac{\langle [\hat{x}, \hat{p}] \rangle}{\langle [\hat{x}, \hat{p}] \rangle} = \langle [\hat{x}_{s}, \hat{p}_{s}] \rangle_{s} + 2 \langle \hat{x} \rangle_{s} \langle \hat{r} \rangle_{s}$ Then $(\Delta x)^2 = (\Delta x)^2 + (\frac{1}{2} \Delta x^2)^2 + \frac{1}{2} \Delta x^2$ $= (\Delta X)_{o}^{2} \left[1 + \left(\frac{\hbar t}{2m(\Delta X)^{2}}\right)^{2} \right]$ 11 ~ Further comment about the relation between the Superpositions Principle & Mu Uncertainly Relation " We commont have Silver Ida neous eigen fine tions of X & P; but Suppor we have eigenfunction of P: \$4(x) = p \$/x1 $\hat{X} \Phi(x) = x; \Phi(x)$

Joppon we made a governor ou for prixi - 7 PIXI $\hat{\chi} \varphi(x) = x \varphi(x)$ $\frac{1}{\sqrt{1}} = \frac{1}{2} c_i q_i(x) \qquad \Delta q = 0$ NA $+ c_2^* c_1 q_2^* q_1 X_1 dx$ $(A \times) \rightarrow \circ \circ$ The Unarthing Relation Imposes Lower limits on the allowed energy of bound systems: $\hat{\mu} = \frac{P^2}{2m} - \frac{1}{4\pi\epsilon_0} \frac{e^2}{r}$ AX~~ APZ to ~ P $= 1 E = \frac{t^2}{2a^2(2m)} - \frac{1}{4\pi\epsilon_0} \frac{e^2}{a}$ to minite E: $\frac{\partial E}{\partial \alpha} = 0 \qquad \Rightarrow \quad \alpha = \frac{1}{2} \frac{4\pi f_0}{m_e e^2}$ "Bihr Ralis $\Rightarrow E = -13.6 eV$